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QUESTION 1

What conditions are required for two FortiGate devices to form an OSPF adjacency? (Choose three.)
A. OSPF IP MTUs match.

B. OSPF costs match.

C. OSPF peer IDs match.

D. IP addresses are in the same subnet.

E. Hello and dead intervals match.

Correct Answer: ADE

QUESTION 2

View the exhibit, which contains a partial output of an IKE real-time debug, and then answer the question below.

t
ing notify type SH "UT_QIJEZF..T
.cut-cuery 40912171 7462883 e5
64 ppk 0O ttl 32 na
2171782746
.3.1 10.1.1.254->10.1.2.254 psk 64 ppk 0 ttl

an

(= =

o

rtocut-reply 4091217178
psk 64 ppk 0

-reply 4091

elec 100.64.5

&

Based on the debug output, which phase-1 setting is enabled in the configuration of this VPN?
A. auto-discovery-receiver

B. auto-discovery-forwarder

C. auto-discovery-sender

D. auto-discovery-shortcut

Correct Answer: A

QUESTION 3
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View the exhibit, which contains the partial output of an IKE real-time debug, and then answer the question below.

responder: m&in mode

61b0f6/0000000000000000
61b0£6/000000000000000

5/ 0000000000000001

61b0f£6/0000000000000000:

1278: type=0AKLEY HASH ALG,
type=AUTH METHOD,
type=0AKLEY GROUP,

ISAEMP SA lifet

my proposal, gw VPHN:
61b0f6/0000000000000000:2 proposal id = 1:
protocol id = ISAKMP:
tra ic KEY IEE.

0000000002 encapsulacion = {E/none
type=OAKLEY ENCRYPT ALG,
-len=256
61b0£6/0000000000000000:278 : OAKLEY HASH ALG,
type=AUTH METHC
type=0AKLEY GROUP,

ISAKMP 5S4 lifetime=86400

negotiation failure

no Sk

Why didn\\'t the tunnel come up?

A. The remote gateway is using aggressive mode and the local gateway is configured to use main mode.

B. The remote gateway\\'s phase 1 configuration does not match the local gateway\\'s phase 1 configuration.
C. The remote gateway\\'s phase 2 configuration does not match the local gateway\\'s phase 2 configuration
D. The pre-shared keys do not match.

Correct Answer: B

QUESTION 4

View the exhibit, which contains the output of a diagnose command, and then answer the question below.
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Which statements are true regarding the output in the exhibit? (Choose two.)

A. FortiGate used 209.222.147.36 as the initial server to validate its contract.

B. Servers with the D flag are considered to be down.

C. FortiGate will probe 121.111.236.179 every fifteen minutes for a response.

D. Servers with a negative TZ value are experiencing a service outage.

Correct Answer: AC

QUESTION 5

View these partial outputs from two routing debug commands:

§ get router
tab=254 vfi=0
dev=2 (portl)
tab=254 vi=0
dev=3 (port2)
tab=254 vi=0
dev=4 (port3)
§# get router

info kernel
scope=0 type=1 proto=11 prio=0 0.0.0.0/0.0.0.0/0->0.0.0.0/0 pref=0.0.0.0 gwy=10.200.1.254

scope=0 type=l proto=11 prio=10 0.0.0.0/0.0.0.0/0->0.0.0.0/0 pref=0.0.0.0 gwy=10.200.2.254
scope=253 type=l proto=2 prio=0 0.0.0.0/0.0.0.0/0->10.0.1.0/24 pref=10.0.1.254 gwy=0.0.0.0

info routing-table all

§* 0.0.0.0/0 [10/0] via 10.200.1.254, portl

c 10.0.

[10/0] via 10.200.2.254, port2, [10/0]
1.0/24 is directly connected, port3

c 10.200.1.0/24 is directly connected, portl
c 10.200.2.0/24 is directly connected, port2

Which outbound interface will FortiGate use to route web traffic from internal users to the Internet?

A. Both portl and port2

B. port3
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C. port2

D. portl

Correct Answer: A
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